EKF12040

TR 2844 A 13 H

ARSI ERES

B2 7%

AA Y — FOBFRIBREEP.IE. Qa2 ) — b —VKEIRT DIGEDFHEEP. &, QERBHOMNE
WHEIZLHEFEEP..D. WTFhArD/NEVEHEBZERERT 5,

Oa—RBIRT HBEDEHE

BIKFHREmTE (RHRERS)
Ac=m+le (le+D)

. BE

QO EISNEIZLBEE

AVD)—hRERPICEF SN AT — M ALY DFF
BN, BAREZFSRESRIBEREHEH OEMT
ToA—HRILEDEREESELL. ROXTEESN D,

P.. = ¢ - 0031 Fc - Ac

Por @ I—URBEICEYRFELS UH— M RYEYOFESIED (N)
¢1 : EREFRH (REEER1/3 \HEER 2/3)
Fc : avyU—bOFREFEERE 0N/md) THET S
Ac : aAVHY—+OI—VEBEEOAKTREERE (M)
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le : £ o9—Fr£K 40 (mm)
D : A Y—rHHEE (FUER) 19 (mm)
Ac = 3.14 x 40 = (40 + 19) = 7410 (mm?)
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Paoio= 1/3 % 0.31430 * 7410
4194(N) = 4.2 (kN) (3% 429kg)
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Pais= 2/3 x 0.31430 * 7410
8388(N) = 8.4 (kN) (3¢ 857kg)
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P.o. = D19 A% EE 60 (mm) x 40 (mm) % 1. 8 (N/mm?)
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Po2s = P.2L x1.5

LREFtRIEZLLE L.

ABEHREE P (&, REAGIER 4. 2 (kN) (3%429kg)

43200N) = 4.3 (kN) (3% 439kg)
= 6480(N) = 6.5 (kN) (3¢ 663kg)
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BEMRIL MREEFTE 5.22 (kN) (3¢ 533kg)
(BERXS 4.8)

BEARIL MREEFRTE 14.0 (kN) (3%1429kg)
(RERXS 10.9)

TARILMERTE 2.16 (kN) (3¢ 220kg)



